E)ﬁ-erc?&ﬁ + 8
O 10,3, (9,6),(3,12), (4,04) ... §

B-values $ 3,6,12,04 X-values o increase
X2 X2 w2

This 1S Q}_‘Exmrtﬁ:nhcﬂ funchon with a
Common vatio of

4. 20,3), (3,19, (5,0.75), (1,0.875),. . .}
W values ¢ 3,1.5,015,0.8375 X valuese

\.._.-?T\___...?'l\___?l
L XL XL \nc:,recascqu

% 0, = %ok
X K7,
s 'S an exponenhol funchon Nt'\‘h CL
b

Common f‘o:ho of | L .)Since +he x-value
2 [ increase b\jl



7. 2(2,8),(5,12),(8,18), (11,27),... §

u-—-ﬂ&]uesg ®,12,18 O7
\J | \.._J"l '\j\__;’\
xS x1.3 x.S

S 1S am ﬁixpﬂﬂef"s'h(ll PLl'ﬁthC}’ﬁ With G

Cormmon ratio  of 3 1.5 | %a

{_ Since tThe X-values increase .b‘q 5}




q_ 2(-1,40) (0,8) (1,16),(2,032),...}

qug\uesg 40,8, 1.6,0.832 «x-valuess

vy l NCrease 'DU 1.
X0O.2 X072 X0.2

This is an expenential funchon with a
Common ratho of 0.2



0. §5,(5,45, 155 405 125§  common raho
N

X3 X3 X3 X3 x3

. §-4,16,-6%,256,11024 4096¢( c
X—4 X4 x-4 x4 x-4

1S S

ommon Qo

1S =4

Common ratio
s
2



4. Y=47

Common catio =4

15. Y= L8 %
cCommon ratho= 1|.%

Cormvmon raho= 0.3 .
. y= 9700 (D.6) *

Common ratho =.6 .



8. 0{3& borrows 3250 Hrom rT?C)Jm

lomn Charaes D% interest per day -
| day, he will owe 102%) VY

* ('PH— +the end
o\ arcount @Gmmn rcrh‘o)

N = imah '
Y= 8250 (1.02,)%
Aster 8dous S = 8950 (1.02,)°

e e

=¥o¢. 0

5 20

Afrer20coyss WV =3805001.02) |
V=8 O50().4859473960)

= 8§.371.M49

Y §9050(1.07)'
= §050(7.P44646118)

8
= 8 181116

i

After 100 d@ﬁsi

This funchon 1S an example of exponential
8?&&.1}\*\(\ ¢



19, Samantha buys a car for 9 94000
he Velmcle VYdepreciates b'\Lj \8% each year,

) i:mef‘:x) | o || | 2, | 3 | 4
Amount m) | o1 0o | 19650 | 161376013220%3] 10 85092

b) (emmon Ratic= 0O.82
(\O0% =18 = §2.%)

C¢) This funchon is am example of
exponential dec&u

: X
d) EFauatTon & 1= O4000(0.82)
N L W\
Initial Amount Common Ratio
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